
          

  

   3زبان انگليسي 

Part A: Grammar & Vocabulary 
1- The joke .................... at the party was so funny that everyone burst into laughter. 

1) which told 2) which was told 3) that said 4) that was said 
 

2- My brother doesn't feel well at the moment. If he .................... healthy, he .................... to work with his co-
workers. 
1) were – could go 2) is – can go  3) was – would go 4) has been – will go 
 

3- A: This math problem is really complex. 
B: Do you want me to give you ....................? 
1) any helps 2) little help 3) some helps 4) some help 
 

4- Which sentence is grammatically correct? 
1) If drivers obey the rules, fewer accidents would happen. 
2) The doctor was very old who examined the sick child. 
3) The doctor who examined the sick child was very old. 
4) If drivers obeyed the rules, less accidents would happen. 
 

5- Since the president was unavailable, I spoke with her assistant to .................... an appointment. 
1) access 2) present 3) decide 4) arrange 
 

6- Progress so far has been very good. We are, therefore, .................... that the work will be completed on time. 
1) specific 2) confident 3) essential 4) unexpected 
 

7- The truck driver had to drive his trailer over the huge .................... so that it could measure the weight of his 
load. 
1) style 2) scale 3) volume 4) magnet 
 

8- In 1804, Haiti became the first black nation to gain freedom from European .................... rule. 
1) original 2) supportive 3) commercial 4) colonial 
 

9- The computer system is .................... with a virus, so it isn't working properly. 
1) infected 2) browsed 3) surrounded 4) polluted 
 

10- The secretary saved the document as a pdf file because the need of a .................... from a word document was 
required for the file to be opened. 
1) conversion 2) transmission 3) disconnection 4) confirmation 
 

11- You are supposed to study English with a native speaker if your company .................... does business with 
Australia. 
1) unexpectedly 2) immediately 3) primarily 4) purposefully 
 

12- Thousands of lives will be at risk if emergency .................... does not arrive in the city soon. 
1) issue 2) aid 3) figure 4) tip 

Part B: Cloze Test 
Most slang words are used more in speaking than in writing. For this reason, …13… of them can be found in 

dictionaries. However, slang words are among those …14… most often. Slang words …15… by some groups such 
as workers, students, and musicians. They are used to …16… a new object, idea or …17… . At first only the 
members of the special groups understand the slang words. Later, some of the slang words are used by other 
people. 

 
13- 1) a few 2) few 3) many 4) some 
14- 1) that have used 2) that are used 3) which is used 4) who use 
15- 1) are replaced 2) are informed 3) are made up 4) are picked up 
16- 1) reproduce 2) exclaim 3) describe 4) consider 
17- 1) experience 2) experiment 3) resource 4) volume 
 
Part C: Reading Comprehension 
Passage 1: 

The dependence on motor vehicles has given rise to  major problems, including environmental pollution, 
decrease of oil resources, traffic jams and safety-related issues. 

While the pollutants from new cars are far less harmful than they used to be, city streets and motorways are 
becoming more crowded than ever. This problem makes the air quality unpleasant and sometimes dangerous to 
breathe. 

Technical solutions can reduce the pollution problem and increase the fuel capability of engines. Many people 
buy larger cars than they need for daily purposes or waste fuel by driving fast. 



One solution that has been put forward is the long-term solution of designing cities and neighborhoods so that 
car journeys are not necessary – all essential services being located within walking distance or easily available by 
public transport. Not only would this save energy and decrease carbon dioxide, but it would also increase the 
quality of community life, putting the emphasis on people instead of cars. Better transport systems are also possible 
by the use of modern computers. But these are solutions for countries which can afford them. 

 
18- According to the passage, it is TRUE that .................... . 

1) nowadays air pollution has been reduced a lot 
2) the consumption of fuel increases when one drives fast 
3) the use of cars for travel to places within walking distance has been reduced 
4) most of the countries around the world use modern computers to reduce fuel consumption 
 

19- The phrase "this problem" in line 4 refers to .................... . 
1) safety  2) air quality 
3) problems caused by cars  4) streets and motorways full of cars 
 

20- One way to reduce the number of car journeys is to .................... . 
1) decrease oil resources  2) make people drive faster 
3) build more streets and motorways 4) place essential services close to public transport 
 

21- The word "them" in the last line refers to .................... . 
1) cars 2) solutions 3) computers 4) countries 
 

Passage 2: 
No one would have believed, in the last few years of the nineteenth century, that human affairs were being watched 

closely by minds greater than man's and yet as human as his own. As men went about their affairs they were watched 
and studied, perhaps almost as closely as a man might study the creatures  that live in a drop of water. 

No one at that time gave a thought to the older worlds of space. If they thought about them at all, they never 
imagined that the other planets could be a threat to human life. The most that men imagined was that there could 
possibly be some life on Mars, but that any men there would be less intelligent than ourselves, and would be in need 
of our help. 

Yet, across the miles of space, minds that made our minds  seem as simple as those of animals, looked at this 
earth unimportantly, and slowly and surely made their plans against us. And early in the twentieth century men on 
earth found out how wrong they had been about Mars. The planet Mars goes round the sun at the distance of 140 
million miles. It receives about half the light and heat from the sun. It must be older than our world, and long 
before our earth cooled, life on its surface must have begun. 

 
22- In the first paragraph, "creatures in a drop of water" have been considered to be similar to .................... . 

1) men 2) affairs 3) human body 4) minds greater than man's 
 

23- The main point of the second paragraph is that .................... . 
1) Earth is the oldest planet in the space 2) there are also other planets in the space 
3) other creatures are less intelligent than man 4) man has not considered life on other planets seriously 
 

24- According to the passage, .................... . 
1) man should plan for living on Mars 2) man has been right about life on other planets 
3) man has not been right about life on Mars 4) the twentieth century man was prepared to go to Mars 
 

25- The passage indicates that .................... . 
1) Earth is younger than Mars 2) Earth is older than Mars 
3) Mars is bigger than Earth 4) Mars is warmer than Earth 


